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A 3 RBM
1, e A4 gEeR e fr, sfem @ e HeAR AT
(1) vfe @) g @) foat (@ =9
Mr. Obama is the U.S. President to receive the Nobel Peace Award.
(1) Firet (2) Second (3 Third 4) Fourth
2. Ofiem 77 el SxmeR Qv Y AET ST afgen 39 .__®m.
(1) e @ T (3) WA (@) =
is.the first nation in the world to find water on moon in the first moon-mission.
(I) America " (2) Russia '(3) India (4 China

3. 9 2010 wed @refter At wive sl sgydareat yrata st whie T=egT AT ?
(1) 12 Fgant (@) 13 hgardt (3 14 Hgart () -15 Sgar

On which day did terrorists attack Pune in the year 2010 ?

(1) 12thFeb. (2 13thFeb. . (3) 14thFeb. (4 15%h Feb.
4. forETdE e queR faer aieel wh T
(1) ndrgwh (2 s afagm  (3) < uiles (1) STETFANY
‘ is the first woman to win the Nobel prize in Economics.
(1) Aung San Su Khi (2) Elinar Ostrom
(3) Tonny Morrison (4) AdaE Yanath
5. 199 gFd forer vl 29 Hu= e,
(1) wAfirn @) At (3) Wra @ 8
XIX Commonwealth games were held in
(1) Malaysia (2} Austra].ia (3) India - {4) England
6. T HHRW IUREAT SO e TESe e tEm I ' e SRfauarg el TR,
(1) 109 (2) 309 (3) 409 (4 209
Total height of the statue of Shivaji Maharaj to be erected in the Arabian Sea is decided to be
feet. ' ‘ '
(1 109 2y 309 ’ (3) 409 (4) 209
7. UGA el (i SETade [aavEhied sSTRarEn SoT T AT
(1 ufgen @ gz 3) fowa (4 <em
India stands in investment on wind energy sector in the world.
(1) First (2) Second (3) Third (4) Fourth
8. '%ain'n'rrsﬁﬁ” 2009 T Frareeiear ‘g &S 3% & Teeme’ I1 feramamendi=an 8 idimnteh

1) R oes (@ gEEETEEn (3) WUHE @R (4) Ao EER
‘Time' magazine has selected two Indians as 'The Heroes of the Environment 2009" and
is one of them.

(1) Bindeshwar Pathak (2) Sundarlal Bahuguna
(3) Popadtrao Pawar (4) Anna Hajare

9. 2009 7= 7! e ‘st gt T we e
(1) shese Wl (@) fadk @) fom fem @) =
Which Marathi film was nominated for QOscar Award in 2009 ?
(1) Harishchandrachi Factory (2) Vihir
(3) RingaRinga (4) Shwas
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10. A2 gt SrTdiE firgt aRadaed gedim ameH et dawam ge 3fis sdavae s
(1) =g =t @ gk (3) HITRTH @) FIA
The prime objective of controlling global warming was decided in the World Summit held
at
(1) New Jersy (2) New York (3) Copenhegan {4y Capetown
11. SIFdE MR @uedt 2008 Atie awadt afivg 1 faemToft et
O T @ HIE @ & (@ Forfveg
In 2008 World Trade Organization's Seventh conference was held at
(1) Doha (2) Cancun (3) HongKong (4) Jeneva
12. g GG Hed IEd HEA T hel,

(1) 72007 (2) Td=12006 (3) SHERY 2007 @) Tdsw2008
Forest Rights Act was enacted by the central government in ,
(1) June 2007 (2) December2006 (3) January 2007 {4y December 2008

13. 2009 = Gadn fasvEha #eter wiafe Seader fHaga se anea.
(1) 59 @ 45 (3 49 @ 43
In 2009 Loksabha election women representatives have been elected in Loksabha.
(1) 59 2 45 3 49 “ 43

14, 2008 91 o TR Hione HaBre ?
() oo 2 2 e (3) ortfag ardm (4) = W
Whoreceived the Booker Award in 2008 ?
(1) Kiran Desai (2) Shobha De (3) Aravind Adiga (4) Chetan Bhagat

15. FYIRN ViaweHET 2008 91 ‘SHea™’ [EHR e firerer ?
() 91 8. WEER () W YEaEY (3) I qremiEet (4) HAHSAEA

Who was awarded "Janasthan Puraskar” by Kusumagraj Pratisthan in 2008 ?

(1) N.D.Mahanor (2) Gangadhar Panatawane
(3) Mangesh Padgaonkar {4y Anand Yadav
16. ‘g o, 38 foe sive e faa” @ Som grf wivamg Sl o ¢
(1) =i 77 Orgq fam (2) TIPS ST
@) = u b A Iegd e (1) g meht
Who has given a new inspirational maxim "I will, We will and India will" ?
{I) Dr.Manmohan Singh (2) Lalkrishna Advani
(3) Dr.AP.J. Abdulkalam {4) Rahul Gandhi
17. TR 20083 e i Fe MR,
(1) wieenad @ s o dige ad
(3) TR U sferer ad (4) e Ty
UNO has declared the year 2008 as
(1) Women's year (2} International rice year
(3) International potatoyear (4) Child year
18, 2010 WY TS T TG FEV[ IV VRS FUAT AT ?
(1) =& . fam @ #wfsaEm @) s A (@) =t wai fm
Who is appointed as the Chief of the Indian army in 2010 ?
(1) V.K.Singh (2) Shri Ranajit Singh (3) ShriGopalan (4) ShriKartar Singh

FHoodT ShIATHTE! JTTT/SPACE FOR ROUGH WORK
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5 RBM
W &= Ser=aT S Qe FoTEIE! ShiveT AteraaEet 2008 Wl T} frged el gt 7
() . gmEefm (@) yeos 9=mm (3) Yo Est () T %, A=A

Under whose Chairmanship the committee was appointed for pay-fixation of Indian Military in 2008 ?
(1) Dr. Manmohan Singh (2) Prithviraj Chavan (3) Pranob Mukherjee (4) A.I Anteony

20. WERIS am gRuRd wnfie wosy gee wiide , AT,
QO 1/2 @ 1/3 (3) 1/4 @ 1/6
Representation of Local Self Government in Maharashtra Legislative Councilis
(1) 1/2 () 1/3 3 1/4 4 1/6
21, W frder gedt 111 =f Sr=vi Hioren fewmf wwam e ? |
(1) =T (2) et =g (3) =% (4) TR
Prithivee I11, India's Missile was successfully tested at
(1) Chandipur (2) Shriharikotta (3) Chennai {4) Bangalore
22, RWUHY 3 gerlyas A1 (e d@eh HI 7
(1) | =R 2 wa. e (3) fhed FE (4) TTeH dleTd
Who is the author of ' HEGEMONY OR SURVIVAL'?
(1) Noam-Chomsky (2) S.P. Huntington {3) Fidel Castro (4) Graham Walas
23. W Toereee e Ferraiord 6 4 14 ST Jemgefi1 RISt ga YaH i e 7
() oHeM-21(A) (2) FA9-14 (3) HAT-19 (4) HeAq - 22

Under which article of the Indian Constitution the right to education has been provided to the
children between the ages 6 to 14 7

(1) Art—21(A) {2) Art—-14 (3 Art—19 (4) Art—22
24, Hd faemdie dw meamEn faurds v deed I ?
@) R fFads (@) I HeR faemds (3) agad faemdis (4) e faemis
Which University is known as Saint Gadage Baba University ?
() NagpurUni. (2) North Maharashtra Uni. (3) Amaravati Uni. (4) Solapur Uni.
25. ek a9 f&A feasft grer et STl
1 1199 @ 219 (3) 09w (4) 247H
International Forestry Day is Celebrated on
() 11%"March (@) 21t March (3) 09th March (1) 24'hMarch
26. TIEAITYH! FIvI AT AR diehi e tsea T ?
(1) g4 firam A (2) WETeH Fet ierr gt A
(@) g B qieHI (4) SETE g

Which of the following is not implemented by the State Government of Maharashtra in the field of
education ?

(1) Sarva Shiksha Abhiyan (2) Mahatma Phule Education Guarantec Scheme

(3) Ahilyabai Holkar Scheme {4) Jawahar Scheme

27,

T Ul sraaidie @ieiel JedT huan dgd - @il fReean ded (F1ed) W am=n

() meh-slEFR (2 FfeAe fivm (@) TeaerEr wRE (4) g9 =R

D 3,4,21 2 1,4,3 2 (3 4,2,1,3 4 2 43,1

Arrange the following events of the Indian National Movement in chronological order on the basis of
codes given below.

(1) Gandhi-Irwin Pact {2) Cabinet Mission (3) Raj Gopalchari Formula (4) Poona Pact

1 3,4,2 1 2 1,4,3 2 (3) 4,2, 1,3 @ 24,31

THeedT HIHHTS! AT/ SPACE FOR ROUGH WORK

P.T.O..

Downloaded from http://www.sscportal.in




' : Downloaded from http://www.sscportal.in
RBM 6 A

28, ¥l HERFGIAT Yleell 996 HIf<isRs &M,
) B aEER (2) IR T=ad Bk (3) TIHYET ATHEH (4) I TR
was the first Maharashtrian Revolutionary.
(1) V.D.Savarkar (2) Vasudev Balwant Phadke
(3) Damodar Chaphekar (4 Anant Kanhere

29. WG AT HH T o a6t TEie HER T Hedl 7
{1) 1951 (2) 1952 (3) 1954 (4) 1957
In which year the Indo-Chaina Panchsheel Pact was signed ?
(1) 1951 2 1952 (3): 1954 @ 1957

30. “TRAW ‘T srefuawrar R Fvft Fen 7
() I SR IR () gfea it (3) ufsa IR FEE (4) Ty mih
Who initiated the 'Mixed Economy'in India ? .
(1) Lal Bahadur Shastri @) Indira Gandhi
(3) Pt.Jawaharlal Nehru * (@) Rajiv Gandhi

31, ‘iz afvg s -fardtw v @ Iz’ & ny woft fafeen ¢
(1) 2EnmE NSk () deneemaud (3 = R gEw @ e feow
was the author of the book 'Poverty and Unbritish rule in India'.

(1) DadabhaiNawreoji  (2) Lala Lajapat Rai (3) V.D.Savarkar (4) Lokmanya Tilak
82, IOt QeSS et SvReR, = sreyehteRor, STdtea e Yer, Selle YITe o SEE a1 e

el FEReYAT T It e
(1) =aTEEdt A, M. R (2) HEHT AT $ed
(3) RIS T TwHaS (4) DAY AR AR

The modern concepts of construction of Dams for Irrigation Modernization of Agncultu.re Breeding
of productive animals, introduction of horticulture and Conservation of forests were first visualised

by
(1) Justice M.G. Ranade (2) Mahatma Jotiba Phule
(3) Maharaj Sayajirao Gaikwad (4) Chhatrapati Shahu Maharaj

33. ©7 1962 HE AHAET =1+ §g1 FT1 degl WItare TReTv O shiv g ?
0 = FFORT (2 T L g (3) TER Wi (@) e TSI
Who was the Defence Minister of India in 1962 when China attacked India ?

(1) V.K.Krishnamenan (2) Y.B.Chavan
(3) Sardar Swarnshing (4) BabudJagjivanram
34. s fafen Frem ufed T WER Few wTH A 7
() HML1946 (2} VL1945 (3) AT 1945 (4) TSI 1946
When was the first interim government formed during the British rule in India ?
(1) August 1946 (2) September1945 (3) August 1945 (4 September 1946
85. 2001 AT SPIURZER HERISAS WIEE! SHT % 3.
(1) 76.88% (2) 88.76% (3) 71.42% 4) 42.71%
The literacy rate for the State of Maharashtra as per 2001 census is %.
(1) 76.88% (2) 88.76% (3 71.42% @ 4271%
36. ) Tdate fen sefagy i ywew 29 IR,
(1) FUsS @ WEsl (3) wE @ REug
The first hydro-electric power project on river Cavery is at
(1) Karad (2) Khaparkheda (3) Paras (4 Shivsamudram

THoedT HTHTETS AT /SPACE FOR ROUGH WORK
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A 7 RBM
37, ‘udcihidl € VeasENT Wretesh! wnef Heeia oTe ?
) o Frs (@) TR (3) g At (1) weER e
The term 'White Revolution' deals with
(1) Floodcontrol (2) Milk production (3) Paper preduction (4) Elimination of corruption
38, uffem Smer M v TR Fiew @nieet gfag o ?
(1) famm (2) T @ @i (1) @fen
Which place in West Bengal is famous for coal mining ?
(1) Singbhum (2) Raniganj (3) Khetn @) Zaria
39. WERIwel S fawr Wiah e} ufig o 7
(1) TEEAER (2) TRt () IR (4) TR
Which place is famous for strawberry cultivation in Maharashtra ?
(1) Mahabaleshwar (2) Ratnagiri (3) Nasik (4 Nagpur
40. @relie SR St gisE o freeame o ? .
(1) f&gs (2) STEwATE! (3) wEAT (4) WTHI-TTTE
Which of the following irrigation projects is located in Aurangabad district ?
(1) Hirakud (2) Jaikwadi (3) Koyna (4) Bhakra-Nangal
41, WERI Usaredl I Hial Shivrar SR e 3 7
(1) HEE (2) HRYST (3) HeHwE (@) AR
Which mountain is located on the northern boundary of Maharashtra ?
(1) Sahyandri {2) Satpuda (3) Melghat (4) Satmala
42, ¥ 1969 Tel 320 W, &, & e e $y 39 T g
(1) T @) Tad Wl (3) AN (4) HeaHH
In 1969 the first nuclear power station with 320 MW, capacity was set up at
(1) Narora (2) Rawatbhata (3) Tarapur (4) Kalpakkam
43, TRRISTAG SA%ST TR Wiehictshl ge=a1 saiesr fiegl Sivr ?
(1) TR @) iR (3) T 4) HITg
Which of the following districts in Maharashtra is second largest in terms of area ?
(1) Ahmednagar (2) Nasik (3) Pune (4) Solapur
44, TEEa G sdd i Igendts fas FRRER) T,
1 1
(1) lzaﬁ 2 2; EL] (3 5a (4 138
The Chairperson and Deputy Chairperson of the Panchayat Samiti are elected for a term of
1 1
(D 15 years (2 2; years (3) bHyears (4) 1lyear
45. Toree aie=n g e IRt S e ?
(1) Tresfs (2) Toeer Q| safterrdl
(3) T HEFA A @) Toreg aftwe=n e
Who is the Chief Administrative Officer of Zilla Parishad ?
(1) District Collector (2) District Police Officer
(3) Chief Executive Officer (4) President of Zilla Parishad

Heoq] HIATHTE! AETT/SPACE FOR ROUGH WORK
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46. TR S TRIFRAR RIGGIGH
(1) TwEg (2) THEEH (3) umHET 4 9=
looks after day to day working of the Gram Panchayat.
(1} Sarpanch 2) Gramsevak (3) Gramsabha (4) Panch
47, oo witwd=n wfirdt =rawia wata secarh sy whirdi €.
() Taml (2) o (3) firem (4) FHATSTHET
committee has a very important role to play in the committee system of Zilla Parishad.
(1) Standing (2) Finance (3} Education (4) Soccial welfare
48, foroen oRtwe= waaTaRYT wivdter faifm anft vefteg, wearen adwmor wish 336 AT el .
(1) =W @ @H 3) @R @ @
The elected and ex-officio members of the Zilla Parishad, meet at least once in months in
a general body meeting.
(1) Four 2) Two (3) Three 4) Six
49. B YaG Giidi=T SRIEETE 3gE .
) fomm st (2) TET FEHHT Al
(3 TEATRHRY (4) e e TR
18 the administrative head of the Panchayat Samiti.
(1) Extension Officer (2) Chief Executive Officer
(3} Chief Officer (4) Block Development Officer
50, TN FHTIRE HHTaT HEWE TRET IR =TT el 91,
1) o afiEh @ foreaafiEh (3) W afir @) Treor afireh
In order to enhance people's participation in local governance comes into being,
(1) Standing Committee (2) Subject Committee
(3) Ward Committee (4) Education Committee
51. axfierar ¥ feeta st AR I ST,
(1) e gl gvradt @ Feefrit
(3) e fommm arftrerd @) TsETd
has the authority to suspend a Tahagchildar.
(1} Speaker of Panchayat Samiti (2) Collector
(3} Block Development Officer (4) Governor
52. |TUY a1 Iuatda I v fae ArearEt qn feaemg Frematfiwta @rEt S sfvarra
3 HigdT 3 e
(1) emfA @ 129RR @ 3uf@ @ 9wl

The vote of no confidence cannot be brought against Sarpanch or Deputy Sarpanch upto a period of
from the time of their election.

(1} 6months (2) 12 months (3} 3months (4) 9 months

53, T YT T 4T 6 Y, TR, B et fadeay, careh ushan st ar quw eft, s areh @il 36 .
IS W, = B FwEl.
(1) 0.1 Tt @ 1T (3) 19t @ ©.53H

The diameter of a metallic sphere is 6 cm. The sphere is melted and drawn into a wire of uniform
cross section. Ifthe length of the wire is 36 m, find its radius

(1) 0.1 mm (2) 1mm (3) lcm (499 05cm
THoodl RN AFT/SPACE FOR ROUGH WORK
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A 9 RBM
54. €., =1 R goae umarh Yy AR, Fowrn weHa: wivf il ?
1) . geoy Fimet ol s @R (@) . ST anfor €. .
@ 9. T A wh, wm. W@ e @) Shssey, faed anf g, dem
Who first proposed double helix molecular model for DNA structure ?
(1) M.W.Nirenbergand H.G. Khorana  (2) M.Knoll and E. Ruska
(3) J.D. Waston and F.H.C. Crick (4 G.W.Beadle and E.L. Tatum
56. 119 137 1998 Greh wiER drawer A2 Saeiean ez reviish vt s kR @ ——— R,
(1) i, @nHe= 2) sl SHa TR
(3) st uHi. 9. srega wem (4) =i TS THU
The name of person linked with nuclear explosion tests conducted by India at Pokharan on May 11
and 13, 1998 is
{1} Dr.Swaminathan (2) Dr.Jayant Naralikar
(3) Dr.A.P.J. Adbul Kalam (4) Dr. Raja Ramanna
56, — 1 3T SR ST IcTE TR FEeH F e,
Q) wAaFlE (2 TEETEEE (3) WA A @) mn o s
'BRAHMOS' missile is planned between
(1) Indiaand Russia (2) IndiaandIsreal (3) Indiaand USA (4) Ruasia and USA
57. e Fuiavia w fage uimr—— qiomm 91 e 9.
) iR @ TEEHE (3) gERH (4) veRTIIE
Telephone ear piece works on the principle of ——— effect of electric current,
(1) Heating {2} Chemical {3) Magnetic (4) Optical
58. AT ¥eH 9 3| S ATUIR TRUT IEHAIYI st H0GT=AT oTaHte — FEUETa.
(1) THI W (2) sfter grer 3) FroeER (4 a1y
Spontaneous emission of highly energetic radiation having high penetrating power is known as
(1) Alpharadiation (2) Betaradiation
(3) Radioactivity {4 Gamaradiation
59, U gEHauiig wzdme 0.15 kW-hr 39t 20 i araware 2areh ot car wedh wkf AR,
(1) 0.45W (2) 0.45kW (3) 7.5X102W (4 7.5x10"3kW
A microwave oven uses (.15 kW-hr energy for 20 minutes. The power consumed by it is
(1) 0.45W 2 0.45kW 3 7.5x1073W 4 7.5x1073kW
60. fregd SRy (qEfeda Midvaerdia Ioq Igmw e —
() e T deeE @) wiézrh Heond
(3) Yarehr drund (9 I TR A
The best example of reverse innovation in the world is
(1) Tata's Nano Car {2) Mahindra's Car (3) Suzuki's Car {4) None of these
61. =hivra T 29 2050 W gatd Sa AaetE @ ?
(1) U @ == (3) ureea™ (4) WRd
Which Asian country will be the most populoue by 2050 ?
{1) Nepal (2) China (3) Pakistan (4) India

Hoedl HIHTHTSI AT /SPACE FOR ROUGH WORK
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62, — TR g Iavarere SITfae Tl due srREee! Afagids deie wifd i (efed) 31 el A
Rrera Felt AR,
D @) & @ drefie @ Ty
World Health Organisation recommended Directly Observed Treatment Short Course (DOTS) strategy
to control disease.
(1) Rabies (2) Tuberculosis (3) Polio 4 AIDS

63. 25 dew faga a1 W 10 T =retal. W fgga fan w1 fegwma faneft gfie 3ot arwel ¢
() 0.0257F=q (2 2536 @) 2.59MeH 4 0.253Fzq

An electric bulb of 25 W is used for 10 hours per day. The energy in terms of units consumed by the
bulb in one day is

(1) 0.025 units (2) 25units (3) 2.5units (4) 0.25units
64. [aTmfE et ——  TRE & giies Heags Bsel ¢
Q) d@afrmfr (@) wa @) (d) A
The next world war will be fought over scarce resources such as
(1) Oiland Water (2) Air (3) Food (4 Land
65. A TATHIES AT SATUTAT VIl HIHR AR — R Tohel S5,
(1) P @) W (@) Fndie (@) e
In Nanotechnology the size of particles is measured in scale.
(1) Millimeter (2) Micrometer (3) Nanometer 4 Meter
66. WAYHR — &1 et g U .
1) TERe @ feaam @) fafefea () Tesiedl
Out of the following diseases, — ———1is not a sexually transmitted disecase.
(1) Gonorrhoea (2) Malaria (3) Syphihs 4 LGV
67. — 91 IV TN HE o Uk Tl HEedT arEqy ot
(1) JfiF Sbfem  (2) SONfM wiyEd  (3) HEehe B (4) wEIee
Heat is one of the forms of power is scientifically proved by
() Benjamin Franklin (2) Benjamin Thompson
(3) Michel Faraday 1) Volt
68. WEiicTEh! HivaT FIReAy Afyas eneAN weid T ?
(1) U M| (2) e ¥R 3 farar =i (@) IRt Bl
Out of the following scientists, who is not related with atomic research ?
(1) Robert Openhighmer (2) Niles Bohr (3) Christian Barnourd (4) Enrico Fermi
69, 2 kg IEHM THHT TGS AHH 30° C IR 100° C T TRfEwamE —— 3w arie.
(1) 140KCal (2) 140 Cal (3) 120Cal (4 120 KCal
Heat required to raise the temperature of 2 kg water from 30° C to 100° Cis
(1) 140 KCal (2) 140Cal (3 120Cal (4) 120KCal
70. TH 1A 1 WIEA St TR G870 ———— TRa.
(1) s S a™ (2) Giwel, ShhgEl a gE?

(3) =S WaEd, T e 9 HEsdEE JEEv (4) sddEd (1), (2)F(3)
The symptoms of H1 N1 Swine Flu are
(1) Feverfor more than 3 days (2) Cough, headache and body ache

(3) Soar throat running nose and breathlessness  (4) All the above (1), (2) and (3)
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71.  @reie areire €7 Rl utida freacs  fed ama.
e .
| e | R |t | wie
1 100 75
Rrert (150)| (120) | (100) | (75}
N 110 60 50 53
T 80 80 44 58
i 35 | 76 | 66 | 60 |
T fowame wd foreneatht firsfordiea o Tt it 2o ¢ (fovgrsan Femranciar Fawds s = fawande
SRt SR IO 37T )
O 72% @ 75% @) 50%
Table shows the marks obtained by three students in different subjects at school examination.
Sub;ec_t Maths | Science | English | Geography
Students (150) 7(120) (100) (75)
A 110 60 60 53
B 80 80 44 68
C 35 76 66 60
What is the average percentage of Marks obtained by all students in science ?
{(Maximum marks in respective subjects are given in brackets)
O 72% @ 75% (3) 50% 4) 60%
72, U Hgamar nig=ran fafyy veswat S w=i Yo IR STEEER Eed e ————
) sma-fa @) TATEd (@) Irafn-sgys @) W)

The most appropriate diagram to represent the data related to the monthly expenditure on different

items by a family is

(1) Histogram (2) Pie-diagram

78. FEAREREE W9 39 w1 qEiad ?
1) =

(3) T IHERAT

(3) Frequency polygon (4) Line diagram

(2) Ua ot Wi TR
(4) st '

What does the height of the rectangle in the 'Histogram'’ represent ?

(1) Class-mark

(3) Class-frequency

(@) Lessthan cumulative frequency

(4) Class-width

WHEed] HIATETS! AWT/SPACE FOR ROUGH WORK
P.T.0O,

d

yo

Downloaded from http://www.sscportal.in




Downloaded from http://www.sscportal.in

RBM 12 A
74, Wieler aRvfia T o ST IR Th Aiaedid @evdis fhdl T duR #@ SIRd ? srafes o,
[ devarh e () FOEREET |
0-50 [ 20
51-100 60
101-200 80
201-500 30
501-800 10

U] SIS 500 U&T SRS/ GHR =41 hIel) gahar feeft ?
(1) 20% 2y 10% 3y 05% 4) 25%
The following table shows the no. of units of toys produced by the workers in a small scale industry

inaweek.
Toys No. of Workers
0-50 T 20
51-100 60
101-200 80
201-500 30

i 501-800 10

What is the percentage of workers producing more than 500 unitsin a week ?

) 20% @ 10% (3) 05% @) 25%
75. Tid SiETiEn TSGR IUF A7 TS HIIITHIET hiedT

(1) " (2) Sqd=+ (@) TNH @) e FalaEl

With the help of Ogive (Cumulative Frequency) curve, one can determine

1) Median (2) Quartiles (3) Percentiles 4) Allthe above
76. wifeysh anviiaie dfeen wvmed fReten fdwen s/@ v

(1) ) e @) w9 s (3) wRvf v @) d=

The headings of the rows given in the first column of a statistical table are called

(1) Stubs (2) Captions (3) Titles (4) Footnotes

7.

IRt faciean STdI=aT STARH, SHHRGE JeTed 3000 T 7 378 ot aiges 311for 71wt wegun Searet fabelt 7
() 6000 fH @) 4000fFF (3) 75001 T ) sooofdd

With reference to the diagram given above, if the production of sugar is 3000 Kgs then the total
production of rice and wheat is how much ?
(I} 6000 Kgs (2) 4000 Kgs (3) 7500Kgs {4) 8000Kgs
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78. W AeEmE I & T4™e I foran,

.

mﬂ_ 400 1978 & 1981 wdarET
FIoaHAT STTAE

180 |— 380

E, 260 |—

L 340

E 40 |—

: 320
320 |—
300 F

...1978 1979 1980 1981

ad
1978 & 1981 wfa= TRt Iea= faeelt 7
(1) 340 {2) 360 (3) 320 (4) 380
Study the diagram carefully and answer the question.
I Chart showing the production
400 — = duri:gsw:;ﬂ-&g] °
3 380 |- 380 |
S 360 |
& 340
2 340 —
E 120 320
300 |-
1978 1979 1950 1981 >
Year
What is the average preduction during 1978 to 19817
(1) 340 (2) 360 (3 320 (4) 380
79.  =RITE g W @ U Bea 7
(1) = @ @iy (3) IED (@) Tl 9 T S e
In which season the Lentil crop is sown ?
(1) Rahi (2) Kharif (3) Summer {4) Both Rabiand Khanf
80. =TT gt st dfsm veate e fdl orea 7
(1) 0.5% 2) 10% (3) 25% (1) 5%
In fertile soil the organic matter content is
(1) 0.5% @) 10% @) 25% (4) 5%
81, W Al WIS T iU TR 7
(1) 0 gt Ty diex 2 el T yeft g 9.,
3) T weft ages 9.1 ) Frent 7w e agei 9.,
Bulk density of soil is measured in which unit ?
(1) Gram per cubic meter (2) Milligram per cubic centimeter
(3) Gram per cubic centimeter (4) Kg. per cubic centimeter
82, welied wvR i ffaaiten war fish wev = sifiar o 7
(1) T 2 (3) firtigs @ &=
Which of the following crops is taken as a green manuring crop in salt affected soil ?
(1) Greengram (2) EKaranj (3) Glyricidiya {4) Dhencha

Tl HIWTETST ANT/SPACE FOR ROUGH WORK
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83. ierehl Trefi= hivrelt ST S g9 Sund) TV witig oTR ?

1 fir (2 st (3) =it @ Foi-Fah

Which of the following breeds of cow is wellknown for its high milk yield ?

(1) Gir (2) Dangi (8) Devani (4) Phule-Triveni
84. WU Hivr T @ R ? '

(1) SHEERE @) STHUEE] @ gl @ vergd

Which of the following breeds is that of Goat ? :

(1) Usmanabadi (2) Jafarabadi (3) Surti (4 Pandharpuri
85. quR fiar uge Qe Fmen e At uge e ?

(1) W @ HB B) =" (4) sfiare

For which crop, the sprinkler method or irrigation is very useful ?

(1) Rice (2) Banana (8) Cotton {4) Vegetables

86, foehicaTE e @ieiieideh) lvid Teeh Thifciieh 3i~Tsell SUaET Ggdl=l Tah el ?
1 % gaeraw g RedR gaaw @) 46w 3 taafE gamE aw
@ feadh ua 9 R saRwnam (9) Sfos feAmeein amm
Which of the following components is not a component of the Integrated Nutrient Management
(INM) System of crop production ?
(1) Use of biofertilizers and green manures (2) Use of organic manures and fertilizers
(3) Use of green manuring and crop residues (4) Use of bio-pesticides

87. frsuTeh F6 fwmret wgor freft wmoft @ ?

(1) 150d2008®. (2) 21047, (3 250d300d.1 . (4 22595
What is the total water requirement of Adsali sugarcane crop ?
() 150t0200c.m. (2) 210 c.m. (3) 250t0300cm. (4 225c.m.

88, WIARTYh! TSl IVl 10T AT T WIFerTah AR 7
(1) Iwg.-235 (@ <hug-228 3 wmudiug-124 (9 WF.-1029

Which of the following varieties of soyabean is resistant to rust disease ?

(1) J.5.-235 2 D.5-228 3) MACS. -124 4 P.K.-1029
89. afadu YA %amm@aaﬁﬂmmﬁmmmﬁmﬁmmwaﬁmﬁaqmmw?ﬁ%ﬁ
7 yHTUTG errEe e e et TR
Q 1:3 2 2:1 3 2:2 4 4:2
In drought prone area on medium soils for more production and profit intercropping of Bajara and
Tur in the proportion of is recommended.
1 1:3 @ 2:1 (3 2:2 @ 4:2
90. Tt g 3Tt wirg wewy weTRrEne Hivrey U AMTe ?
(1) ®Aled (2) RN (3) ™ (9 afEE
1n which state the oldest and famous college of fisheries is located ?
(1) Karnataka (2) Maharashtra (3) Andhra {4) Tamilnadu
91. Feyry fushean fommeam 71 e HavArs ufshan Seam IrEdis T fRfiwu T .
1) T (2) I (3) T (4) oTETERem
Seed treatment of pulse eropswith ________ culture is helpful in fixing of atmospherie nitrogen.
(1) Rhizobium (2) Aszotobacter (3) Azolla (4) Azospirilum
92, WigdTT=41 AR & 5 foet S e 378 TR,
(1) T @ drer 8) = @ =Ia
The payment made for the use of capital is called as
(1) Profit (2) Loss (3) Interest (4) Wages
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93. WIeNEh o1 Tt UTATHE AT THW S 3T ¢
) T @ g @ = @) FTE3
Which one of the following oil seed crops, contains lowest oil percent ?
(1) Sesamum (2) Sunflower (3) Groundnut (4) Safflower
94, SHin ST 1 WA ] SRR 999 FE AR ?
Q) HieierE @ e @) TR (4) THE et
What is the feeding habit of common carp ?
(1) Carnivorous (2) Omnivorous (3) Herbivorous (4) Surface feeder
95. TR fUaesl TR At T1 A el TRV,
(1) FuefEe @ < @ wEdH @ |
Yellow colour in turmeric due to the presence of crystalline pigment is called
(1) Capasicin (2) Waxal (3) Curcumin (4) Sennocide
96. AR YR __ 9 3ok WA (M) e
Q) 60 @ 40 @ 10 @ 20
Soyabean contains percent of proteins.
Q) 60 @ 40 @ 10 @) 20
97, EPISAISAIG % g% doE WHIVT 3.
(1) 48452 (2) 20922 (3) 10420 (4) 15d20
The oil content of groundnut kernels is percent,
(1) 481t052 @) 20 to 22 (3) 10to 20 (4) 15t020
98. W] vl AT el e e anfor =t S Sug AR ? .
(1) w2-4-1 (2) =TH! (3) Ha*h (4 wEEE-35-1
Which of the following genotypes i1s that of an onion that is useful in Rabi season ?
(1) N.2-4-1 (2) Chafa (3) Trambak (4 Maldandi-35-1
99. TIATA IV T WHATSlA IeATGHAI ITUA 3TE 7
(1) "ENI% (2) " (3) TETT (4) T=eg™
Which state is the leading producer of Soyabean in India ?
(1) Maharashtra (2) Punjab (3) Madhya Pradesh (4) Rajasthan
100. 2001 T SVHIER FERISCI TRV hrH HUTT A} Sranspu= sahand IR,
1) 34.0 @ 26.3 (3) 42.4 @ 28.1
As per 2001 census, in Maharashtra farm labour constitutes % of the total working labour.
1) 34.0 @ 26.3 @) 42.4 @ 281
101, AT TN IR TEHT AT AR TR IR Feil AR 7 A1 SIPTieh sama i Fae (Bsey,. 9. 3. ) +th
ST are.
(1) 1981-1982 (2) 1994-1995 (3} 1996-1997 (4) 1998-1999
In which year the Govt. of India signed WTO agreement and when did the World Trade Organisation
come into existence,
(1) 1981-1982 (2) 1994-1995 (3) 1996-1997 (4) 1998-1999
102. S feuR fis el @reficishl S0l Wb Wisd ?

() M EdRF (2 AemEdREs (3) & gedE o (4) v & e
The farmers get crop loan under

(1} Shortterm loan (2) Medium term Joan

(3) Longterm loan (4) Verylongterm loan

HTT FIHTETE ANTT/SPACE FOR ROUGH WORK
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103, AT SEICRP HeHN! UARAST QT F F Swaw 7
() TR FAER TqEST Hr (2) Vo FiY Ffasien gEe wor
(3) =l (1) 4 (2) 3 (4) SOt SR T
What are the functions of village multipurpose co-operative credit society ?

(1) Providing agricultural finance to farmers (2) Providing agricultural inputs to farmers
(3) Both (1) and (2) above (4) None of the above

104, ¥ Fma 932 op w7
(1) aE=E o e €6 qedh w5t (2) T =i 20
@ Fh ffasE gEar wo (4) SO wiordEt et

What is the main function of the Land Development Bank ?
(I} Providing long term loans to the farmers for Land Development (2) Providing crop loans
(3) Supply of agricultural inputs {4) None of the above

105. 2006-07 T JuTd YRE GEHR THEY UShIN (TSR, fiscal) T TG BIoTet ST 3.3% Sah! €t o wrerfires
2 TSN Bee Iaam= —0.2% saeh! et o Rt % wwifert ?
(1) eEHe T SIS ST 1 gehTS WA G IR B (2) G 6 eUET HI) ) €1
(3) GEReEt (ge) I yumr S B (@) fga FEwis w4 e
In the year 2006-07, the Government of India's fiscal deficit was 3.3% of GDP and Primary deficit
was—0.2% of GDP. What does this indicate ?
(1) Interest rate component of revenue expenditure was very high
(2) Deficit financing was low

(3) Subsidies were high
(4) Price Indexwaslow

106. T 2008-097WE) IR SFicT T Ie04 % . 3323648 Fid T B 21D et Usdia 3 =, 2941971 F waR €. S
Io9A TSI ThlEd Gl 35 Faed 7t g3 o ?
(1) STl uE e (2) ST e HHT
(3) TN ANEHHT TS ST ueE Ieod  (4) faaeft o iwevERidie ve
In the year 2008-09 India's GNP was Rs. 3323648 Crs and NNP was Ra. 2941971 Crs. The difference
between the two is due to which of the following factors ?

(1) The depreciation value of capital (2) The depreciation of rupee
(3) The factor incomes to be paid abroad (4) The decline in foreign direct investment

107. W srsfeaaeeid 2008-09 TN I87d 81 AFTN F&) SUHE BT 7

1) 8.9% @ 7.1% 3 7.9% 4 9.8%
What was the rate of growth in service sector in Indian Economy in the year 2008-097
1) 8.9% @ 7.1% (3) 7.9% @ 9.8%

108. 7Y Ieitrral WREATSAT SN ST e arer AR ?
(1) gIR25% (2) FIR 45% (3) IR 39% 4) AR 55%

What is the share of small scale industries in India's industrial output ?
(1) about25% (2) about 45% (3) about 39% (4) about 55%

109. g Gl T M F1 329 gt ¢
(1) =T AHE0 (2) WHSEIHEU () HY Sicheon (4) TITHE kel
What was the objective behind formation of Vanchhu committee ?
(1) Tax Audit (2) CompanyAudit (3) CostAudit {4 Revenue Audit
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110,  1960-61 UTHH 0T ST TRATEAT T AT qTeT FTefed ™ Hed e ?
(O wufies &3 @ Fedrre g9 (3) qaES & (0 wufies o fedas a9
Which sector's share has been continuously decreasing since 1960-61 in national income of India ?
(1) Primary sector (2) Secondary sector
(3) Tertiary sector (4) Primary and Secondary sectora
111, e doet Heg ARAREITFET S e arar afEmiardia seaen 27.8 s g 7
(1) 61dH @) 55w (3 51HfE (4) 54 H
After which round of National Sample Survey Organisation, India's 27.8 percent population was
below poverty line ?
(1) 61%round (2) 55" round (3) 51%round ) 54'h round
112. AW U Ieqan fawfie o1 HET TG el ST,
) A Ags (2 ade e ¥ (3) e (@) Fa giferh gued
National Income Estimates in India are prepared by
(1) Planning Commission (2) RBI
(3) Finance Ministry (4) Central Statistical Organisation
113.  2006-07 Gt WRaTsa1 TSR Ieaam it ssren fewn foreft g 7
(1) 13.26% @) 18.51% (3) 20.47% @ 22.18%
What was the share of Agricultural sector in India's National Income in the year 2006-07 ?
(1) 13.26% @ 18.51% (B) 20.47% @) 22.18%
114, R SHVAT 3EdTer 2001 TUR 1991 T 2001 TN HISTT AhEEA] dTeia ardeh S o s gl 7
(1) 1.22 2y 1.93 (3 2.11 4 2.15
As per the census of India Report 2001, what was the compound annual growth rate of population
during the period 1991-2001.
(1) 1.22 2) 193 3 211 4 2.15
115, VAW FEee HeeT TmyE Feet gmeft ?
(1) #1950 @) w1950 @) A 1951 4) A4 1949
When was planning commission established in India ?
(1) March1950  (2) April 1950 (3) March 1951 (4) March 1949
116, WRdE Feem @refieth Fiven yemd died 7
(1) e @) i (3 TEF 4 IRTER FEem
Indian planning falls under which of the following types ?
(1) Democratic (2) Regional (3) Indicative (4) Planning by command
117.  STRUST Y=dTiieh GiseTaia aavh o TRYT T U Searedeat fahel 2ah arifdr g ?
(1) 33.3% @) 36.7% (3) 24.8% (4) 30.0%
Inthe 11th Five year plan, the Investment rate as a percentage of GDP is estimated to be at what level ?
(1) 33.3% 2 36.7% (3) 24.8% (4) 30.0%
118, YR iU I WA THRHST &1d el 7
(1) W=t &t (2) ITIRA YoE @) IAITEET T () FOIH HivE! T
Which of the following is a tax not levied by the Government of India ?
(1) Income tax 2y Excise duty (3) Agricultural Income tax  (4) None of the above
119. &eETeH] YaaTe: Jiei ofata By o0l FR Frdia st vgw Pt w=ien geme fd arer g 2

(1) 3.8% (2) 8.3% B3) 6.5% 4 11.0%
What was the share of agriculture and allied activities in the 10tP Five Year Plan outlay ?
1) 3.8% 2) 8.3% (3) 6.5% 4 11.0%
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120. R AisHataria e Frdamrn Rula gt et ?
1) 8.0% (2 10.0% (3) 12.0% @) 9.0%
What is the targetted rate in poverty reduction under 11t? plan period ?
(1) 8.0% 2) 10.0% 3 12.0% 4 9.0%
121, U= Atk ofaia ferelt atffera UseTR Feht Suesy v wey Fuffea Foam s 8 ?
1) 50 feheaa (5 Fé) @) 58 fircfima (5.8 i)
(3) 60 Prefta (6 FiY) @) 45 focfimm (4.5 FHY)
What is the target kept for generating additional jobs during the 11th plan period ?
(1) 50 million jobs (5 crs) (2) 58 million jobs (5.8 crs)
(3) 60 million jobs (6 crs) (4) 45 million joba (4.5 cra)
122, WRAMS! T4 A1 SAcrtd Jelie srarel = YOI CRYT T ScdTeTeAT et g 7
1) 26.1% (2) 24.2% (3) 25.8% @) 23.31%
In the 9th plan period what was the proportion of domestic savings to GDP in India ?
1) 26.1% 2) 24.2% (3) 25.8% 4 23.31%

123. SENUAHIT Tl SeaA-TG =] LTSNS IVl Seehi=) TARY 3Fal
(1) o =gt anfde aftferdn s (@) T g
(3) WEad @ wrTiawaT= saae (4) asbhawd
Are alsoincorporated along with the estimates of public revenue and expenditure in the budget ?
(1) Pastyear review of economic situation (2) New tax schemes
(3) Management of capital expenditure (4 Allofthe above

124. W 1986-87 U ST VLTI SETSHFHIA HIVId Sqd! Higes 7
(1) wegeh s @ wege e
(3) TEge! IovA F @Al 916 (4) vege! 3o 9 Gl gAH A 916
Which tendency is observed in the budgets of state governments since 1986-87 ?
(1) Revenue surplus
(2) Revenue deficit
(3) Increaseinrevenue receipts and expenditure
{4) Increase inthe revenue receipts and expenditure at equal rate

125, ‘g mefies i Hafia AR,
() TR dear galrea
@) ford dezren st g
(3) g M Usa R Fieameie R A e T
(@) vdwiiE G HETaH
The 'New Gadgil formula' deals with
(1) The new set up of the Planning Commaission
2) Redefining the role of Finance Commission
(3) Devising a new structure of tax distribution between Centre and States
(4) Public expenditure management

126.  MRATAS o Toiaf) g ohiel - el JaauEhEasia S TeaHet ReRisgIe ST i vad! fied oTR,
(1) FgweEm Q) ®AH (3) TR (4) e
As compared to the other states in India after which state the Maharashtra is the second most
favoured destination for Industrial investment.
(1) Andhra Pradesh (2) Karnataka (3) Gurat (4) Tamilnadu
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127. 3 T Wieae fewdla Yot S St §ame g ¢
(1) T TR fectewn weite) anfty =elieh e ks @ e wg s=h
(3) iR A= 1 omft 2 @) SR FEaE! T
Which of the following items are included in capital receipts of the Central Government ?
(1) Netrecoveries of loans and advances to States (2) Netsmall savings
{3) Both 1 dnd 2 above (4) None of the above
128. WRAME FEIIRE S0e &1 LT geard A 7
() 12005 (2 1Tf@@2003 (3) 12001 @ 11fiE 2002
When was VAT introduced in India ?
(1) 1°tApril2005 (2) 1°tApril2003 (3) 1°tApril 2001 (4 1%t April 2002
129, S Gl Yot Fgsvmareter Fiodieadia afih T weaia a9 39 ?
(1) T S i @ v wfirh
(3) g Ak (4) TEaHE I
Which parliamentary committee directly under the control of Speaker of Lok Sabha keeps an eye on
Governmentexpenditure ?
(1) Public Accounts Committee (2) Standing Committee
(3) Estimates Committee (4) Committee on Public Undertakings
130. iaid w@afE Hi Fg ?
(1) s T fam (2) Youu sElea aia
(3) T GRS g e (9 Ot Hvid T
-Who conducts the Internal Audit ?
(1) Finance Department of the central government (2) Secretary tothe PMO
(3) Internal Audit wings of various ministries/department (4) Noone from the above
131, R Wi NvAfaEdt 9y wia frae,
ABDG,?
O M @ L ® K @ H
Select correct option for the question mark in a letter series.
ABDG?
1 M @ L B3) K 4 H
132. maﬁﬁgﬁ?ﬁzmamaﬁ A grEthS TR 10 Hiet ). TR IeEEe 987 5 Hie I, AW 5 i
Zfariers Al A 5 e ufFman Fe av = g v v Reen o 7
@ = 2 ufwm @ IW (@) 3iEm
At my house I am facing East. I turned left and walked 10 m. Then I turned right and covered 5 m.
Thereafter I went 5 m to the South and from there I went 5 m to West. In which direction am I with
respect to my house ?
(1) East (2) West (3 North (4 South
183, wf=Esh TaT gig i ?
IR : oS ;Y 7
(1) 98 @ *qE @) "= @) e

Which of the following best replaces the question mark ?
Carpenter : Wood : : Tailor : ?

(1) Cloth (2) Cotton (3) Goods (4) Dress
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134. A F B a1 Al WEAU S G99 3R 9 §aY Ahdt C 9 D ard 3R @€ 3 gaia fas,

&l o) ?

A B C D

wafa
&y <:> @ Q ® [ ] @ A

Ifrelationship between figures A and B is the same as between C and D, then select correct option.

& ol ?

A B C D
Options :

M O @ Q ® [ ] @) A

135. XYZ:64,65,66::STU: 7

(1) 39, 40, 41 2 59, 60,61 (3) 49, 50, 51 @ 19, 20,21
XYZ: 64,65, 66::STU: ? ‘
(1) 39, 40, 41 2 59, 60,61 (3) 49,50,51 @ 19,20,21

136. H&I HAM HiST :
D et el e g
II) &R WA GeAHT N QEvar Stae,
IV) HTEHRY! GSiaahia T Feed] Fahe Ieaeian w4l
V) TapeAaER 3t [aer +n.
VD) EhREE sl aivdt e,
VII) IeH= AT AREE SRS TR,
|l ;
Q VIIDIHNM > V210212 VISIV @ IVSIII-SVa3I1I>12 VI —VI
@ IIo2IVa2IOI IS5V VIDSVII QINN2>2VIN S VIS VIS IV
Arrange events sequentially :
I) Children reach puberty at an earlier age.
II) Poultry owners treat hens with growth harmone.
III} Government decides to supply proteins to achool children.
IV) Harmone treated poultry is banned by the government.
V) Poultry owners are given contract for supplying eggs.
VI) Government appoints an inquiry committee.
VII) Scheme shows positive effect on childrens' health.
Options:
QO VI3 VI IVIDIV @ VoIl VoI — I VI VI
@ N2Vl I>2VoVISVII@ IS V=2II-2 VIS VIS IV

WA HIATATS ART/SPACE FOR ROUGH WORK

g A
————— VS
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137. 217:262::715:°7

(1) 760 2 859 3) 877 4) 580

217:262::715: 7

(1) 760 2) 859 (3) 877 (4) 580

138. mnaaxwﬁ%ﬁuﬁrmar@avmwhaﬁw?

kesssariraricn

g ;
oy EL:E @ ﬂ 3 €Y

Which alternative shows the mirror image of the figure ?

PPTIFF7ITTI?TT

Options:

139, KOLHAPUR &1 ¥s2 IMJFYNSP' 3181 feifeeama ' WASHINGTON' ¥18 %41 fofere 7
() UVWFGELRLM  (2) UYQFGLERML (3) YUQWFLELMR (4) YQVWGFLEMR
If KOLHAPUR is written as TMJFYNSP", then how will you write the word ' WASHINGTON'?
(1) UVWFGELRLM  (2) UYQFGLERML (3) YUQWFLELMR (4) YQVWGFLEMR

140. 3780 TEUTET *'E) wErht e AT A ARl R 9 oveurR T geiElt T e ?

1) s (2) @ T @ ==
Arun said "This girl is the wife of the grandson of my mother", What is Arun to the girl ?
(1) Father (2) Grandfather (3) Husband (4 Father-in-law
141. U WSGH G AT 18 91 AN 61 27 91 3R, T 1 wqeia foheft Wearg a1 ?
1) 45 @ 9 (3) 44 (4) 48
Aplayeris ranked 18th from bottom and 27t from the top. How many players are there in the game ?
1) 45 @ 9 @) 44 (4 46

HEAT HITTTE ANM/SPACE FOR ROUGH WORK
. . P.T.O.

]
Y 2
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142. vl it @y g .
62 3 8
58 ?
4 10 13
() 48 @2 8 3 29 (4) 28
Insert the missing number at the question mark.
6 39 8
8 ?
4 10 3
(1) 48 @) 8 @3 29 (4 28
143. gR sfXvitean 5 aniqei=an aarh abs 80 o A, W 15 Tl crie aar=h 09 et Bder ?
(1) 60 (2) 100 3) 160 4 95
The sum of ages of four sisters 5 years back was 80 years. What will be the sum of their ages after 15 years ?
(1) 60 ) 100 3 160 4 95
144. WIARAF) FI0ea1 89 (Venn) AFHaHd 12 a1 HAFIIN dav Aim R sr@faa amiq .
=@, Fihl, W

M @ @ @ O o @ @[)

Which one of the following Venn diagrams correctly illustrates the relationship among the classes :
Tea, Coffee, Beverages

0 (@) «(@0 0@  w(@D

145, GrRi=Yh faama wig e

66, 77, 94, 49

(1) 66 @ M (3 % @ 49

Find the oddman out of the following :

66, 77, 94, 49

1 66 @ 77 (3) 94 (@) 49
146, SR 1 TR PR A W 1 e 4.

(1) ¥HaER (2) HTBER (3) W (4) TER

If 18 Qctober is a Sunday, then 15t November will be

(1) Monday (2) Tueaday (3) Wednesday () Thursday
147. mﬁmrﬁﬁaﬁmmaﬂ% Aifeds a5F SHaer FH AR, Ta2 g9 et At I Mgt wi IR |

Tid FAq T 99 FIoT= TR 7

(1) mfds 2 W% (3) WA (4 onfimr

Ashish is heavier than Govind. Mohit is lighter than Jack. Pawan is heavier than Jack but lighter
than Govind. Who among them is the heaviest ? _

(1) Govind (2) Jack (3) Pawan (4) Ashish

HESAT HIATATS! AT /SPACE FOR ROUGH WORK

: 4

-

m
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148, GEAWTThdT I ST S ?
3, 6,18, 72, (.....)
Q) 144 2 216 (3) 288 (4) 360

What is the 5f number in the series ?
3,6, 18, 72, (.....)

1) 144 (2 216 (3) 288 (4) 360

149, 19 45 91 GEATEUITTEET 33 WP ST T&TT Jeed] 1A Higedrd wata ! Femdien geom Faea wmmEdd
FE HvrEt ?
(1) 18 @ 21 (3) 24 @ 27

If the numbers divisible by three are arranged in ascending order then what number will be at the
9th place from the number having least value ?

(1) 18 @ 21 @ 24 @ 27
150, AT STt 1ol s A 7

31, 37,7, 43, 47

1 38 @ 39 3 41 4 40

Which number will come in the place of question mark ?

31,37, 7, 43, 47

(1) 38 2 39 @ 4 4 40

151. 72 Rden wlle x @ v faen

IR

1 12 @ 24 (3) 20 (4) IR AT
Find the value of x in the following pattern

N

1 12 2 24 3 20 (4) None of the above
152. SW339AB — 113 AB, W 345xy — 7
(1) 511xy (2 151xy 3) 115xy 4 115yx
If339 AB — 113 AB, then 345xy — ?
(1) 511xy (2) 151 xy (3) 1l5xy @ 115yx
153. el Rcien afgen 29 gemel o fafine day . aar gay fae=n onfy <hen degived e, @ <l g
Tt ?
27:38::51:7
() 60 () 63 3) 64 (4) 66

There is some relationship between first and second number, There 18 also the same relationship between third
and the fourth number. Then what will be the fourth number ?

27:.38::51:7

1) 60 (2) 63 3) 64 4) 66

THooaT HTHMTI AWT/SPACE FOR ROUGH WORK

P.T.O.
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154. W¥ATo=gT=a1 SR hivren veer da 7
feremeff : =mee1 ¢ 7 ; (play ground) frgPTOr
1 @3 (2) G=Ig (3) wineran (4) A=
Which word should come at the question mark ?
student : school : : ? : play ground
(1) game (2) player (3) coach (4) ground

155. I qgigTedT dierE e e gha S
Al10:Z35:: K20 :°?
1 J9 (2 Ji8 3y J9o 4 J19
Fill in the gap with the correct alternative
Al10:Z35:: K20 :?

(1) J9 @ J18 (3) Joo @ J19
156. S PAPER = 56, PENCIL = 59, @ WRITE = ?

(1) 73 @ 74 @) 75 4 176

If PAPER = 56, PENCIL = 59, then WRITE = ?

1 73 @ 74 @) 75 @ 76

157. U Uil ned 9y Iwirer 4 791 fredrd mﬁgﬁwqua;gﬁmﬁ R & T 75 WA I ferfeeft
aﬁwmsmﬁw@rw%mmﬁ WA SR 3t faet,
1 35 (2) 40 (3) 42 @) 46
In an examination, a student scores 4 marks for every correct answer and loses 1 mark for every
wrong answer. If he attempts all 75 questions and secures 125 marks, the number of guestions he
attempts correctly is

1 35 @ 40 @ 42 @) 46
158. U1 T BT grefiehgd 25 91 AR, 9 ISEIRE a1 25 1 AR T TG TR 4t et 21,
(1) 50 2) 49 (3) 48 @ 51

In a row Sandip is at the 25 place from the left and so also from the right. How many children are
there in the row ?

1) 50 @ 49 (3 48 @ 51

159. Fiesigde A 3r3h faem s faer # < e sraea swda
= ud woft wiETeT aTed @) g} wolt waER TEh
@) it W A @ il it HiEE TR
it I
(1) sFaars (2) = = (3) 1 M= (4) = amfre
Find a pair of statements that will always be false
{a) All animals are carnivorous (b) Some animals are not carnivorous
(c) Animals are not carnivorous (d) Some animals are carnivoroua
Opticns :
(1) aandb 2) bandc (3) aandc (4) candd

160. “Wabdec33m '/ J N\ A\ ffedt 3@ T decab F forfect wéa 7
& AATTIN@NAN/ 1O ANAIN @ AA /N /

If 'abdec' are written like’ / \' then how will 'decab’ be written ?

O AN/ INONAN /70 ANAIN @ AA/IN/

HoedT TIATATE AT /SPACE FOR ROUGH WORK

' \
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161.  wafugrem sl Ao AT Hivrdi 7
()
W @ < @ N @ 2 /]
Which figure will appear at the question mark ?
@ @ < @ N\ @ / } ?
162. 0 U FwaTEE A Wty fras.
B3E7R13Q 197
1 8 2 U 3 W @ Y
To Complete the sequence select the correct option.
B3E7R13Q 197
1 S @ U 3 W @ Y
163. T2 Y dieEl ST T FHIMET Ta STl 378 ?
(1) s@Fm (2) IuE @) T (a) ¥
Mouth is to saliva then Eye is to
(1) Eyebrow (2) Eyelid (3) Seeing (4} Tears
164. el fagmg gt e
Fig.1 Fig. 11 Fig 111 Fig. IV
(I} Fig.1 {Z) Fig.1I 3y Fig.III (4 Fig. IV
Identify the odd-figure
Fig.1 Fig. II Fig. I11 Fig IV
() Fig. 1 @ Fig. Il 3y Fig. III 4 Fig.Iv
165, Uikedr GEA= gE=a AN S Gaw TR A fae=n v i wicl dEdeh onR, e v wem
HII 7
1641:41::7225: ?
O 55 2 68 (3) 79 ) 85
I1f 1641 ;41 :: then 7225:7?
{I} 55 {2) 68 3 79 {4 85
166. G Avfidic fga et v T A 7
17, 34, 102, 408, ...
(1) 1632 (2) 2040 {3) 1080 (4) AT HivTAET AT
Which number will follow the series ?
17, 34, 102, 408, ....
(1) 1632 (2) 2040 (3} 1080 (4) None of the above
HoodT HIMTATS! ARTT/SPACE FOR ROUGH WORK
P.T.O.
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167. Wrele SRR ST S sgd) 354 ?

(1) ﬁQ @ %97 ® X @ w

Which figure will be in place of the question-mark ?

WAL AR

Answer Options

(1) ﬁ& ® %% @ X @ w

168. GTelie A1) 1 guiferard -
Daaaﬁaﬁmvnammwﬁﬁmﬁ
() st freora 7@ sreor et
/7, e w e W sraon fareef]
R ot wrwta W g faeneats v et smed s et ?

5

(1) 8.33% 2) 16% (3) 13.88% 4) 25%

Following figure indicates that
Pupils interested in medical education

O Pupils interested in engineering education
A Pupils interested in competitive exams after degree

So what is the proportion of pupils interested in all the three branchesto total number of pupils ?

25

32 /25
67 23 %0

1 8.33% @ 16% (3) 13.88% 4) 25%

wHoodT hTATETE AFT/SPACE FOR ROUGH WORK
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169. Wwfereredr wIvf A gaiy form.
2117] 5
117 |13
71193
(1) 15 2y 23 (3) 25 4 33
What is the correct dption in the place of question-mark ?
2017] 5
11?7 (13
71193
(1) 15 2 23 3 25 4 33
170. vvifweren sl 9 waie faer.
AN A A
21 a5 12 20
1 4 2 14 3 16 {4) 38
What is the correct option in the place of the question mark ?
Tizfd ?i i;s Bi ?9 1 1
B
21 i 12 E7)
1 4 @ 14 (3) 16 - (a) 38
171, Wefwer=m 9nf 9y yats faer,
82, 48, 26,7,2
L 22 @ 18 G 8 (@ 14
Select proper alternative in place of question mark ?
82, 48, 26,7, 2
(1) 22 {2) 18 3 8 4 14
172. R SCHOOL ¥/&% HXSLLO a7a1 fifden @t NZGV v %/ ?
(1) MATE (20 JOKE (3) TALK () WASP
If SCHOOL is written as HXSLLO then NZGV means ?
{l) MATE (2) JOKE 3y TALK (4) WASP
178. R ‘sequential’ €1 %% 2137198564 fIfReT ot essential’ & w1sg wen ferfeen snda 7
(1) 122198564 (2) 21189564 (3) 221198564 {4) 98824651
If word 'sequential’ is written as 2137198564, how the word 'easential’ will be written ?
(1) 122198564 (2) 21189564 (3) 221198564 {4) 98824651
174, GEAH JTTST AR TE HviET ?
Echi, Hfko, Kinr, Post
(1) Echi {2) Hiko (3) Kinr {4) Post
Which is the odd group of letters in the following ?
Echi, Hfko, Kinr, Post
(1) Echi (2) Hfko {3) Kinr (4) Post
HooAT RIHTATE! ATT/SPACE FOR ROUGH WORK
P.T.O.
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175. Hieoeal hdid x 9 y I1 T STFHR vt TEd1 Adied ¢
&
L
D

(1) 5,25 @) 25,5 (3) 5,20 (d) 40,200
In the given figure which numbers will there be in the place of x and y ?

©

&S

1)
&

(1) 5,25 @ 25,5 (3) 5,20 @) 40,200

176. &R M1 STENT ATAT FUTAT HIH! 4 T2 92 9. HEHE AT Y Jrea I3T=A1 = Rioge 42 39, smgarsar
FATH 5 T2 AT FATAT §U! T Adl, T IEHEA 99 i 7
Q) 1538 @ 6y @) 1898 @ 83y
Four times the sum of the ages of Akshay and Ahmad is 92. Three times the sum of ages of Ahmad and
Amruta is 42, 5 times fo Amruta's age is equal to twice that of Akshay. So what is Ahmad's age ?
(1) 15Years (2) 6Years (3) 18 Years (4) 8Years

177. U1 MEtaed] 33% cilshiche Clid g g 18% wlishishe F0IUa gLEd 18d. g6 IR 57% o
TR g, el 25% W Fdes TARSHEE, 19% saeredt @ 16% Dafe swmarE) e e,
fa 34884 Wi FivieaTd) @ IRINETE el e, qt A et g dhae fFhd ?

(1) 2,84,000 (2) 4,35,000 (3 3,00,000 4 1,87,950

33% citizens in a city have colour T.V. sets. 18% have black and white T.V. sets, 57% of citizens
having T.V. sets watch them, of which 25% watch for entertainment, 19% for news and 16% for
educational purposes. Remaining 34884 watch T.V. without any special purpose. Then what is the
total population of that city ?

(» 2,84,000 (2) 4,35,000 3 3,00,000 4 1,87,950

178, W& 5 3o GEAT AR WiRe 1 o Ui ST UTERR HHeql Jehigden 1R, gOU 37eh e sisan 21 g TR,
X e 37 WSAT AT 4/3 AR, S ge= ifur e siwh st 12 o T ot v wivwd ?
(1) 32468 2) 62483 (3) 24683 (4) 32468
There is a five digit figure. The product of 18t and 5t digit is equal to the middle digit. Second digit
is two thirds of third digit. While fourth digit is 4/3 times the middle digit. If sum of 2"d and 4*h digit
is 12, what is that figure ?
(1) 32468 (2) 62483 (3) 24683 @) 32468

179. AT 9 YT AR SAT=A1 SSiga TS AT A1 99 3R, TS Seiaran 7 a9l owH TR.
e ST AT 72 e oAl AT ST SR B, S e 3o 99 48 3 3iet 7 A 7d
H 7
(1) 58 a8 (2) 68 =8 (3) 75 9d (4 89 a¥
Sum of ages of a son and his father is equal to the age of son's grandmother, Grandmother is seven years
younger than granfather, Fifteen years ago grandfather's age was twelve times that of the grandson. If
father's present age is 48 years, what is the grandmother's present age ?
(1) bH8years (2) 68years (3) Tbyears 4) 89years

Heedl HTATETS! ART/SPACE FOR ROUGH WORK
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180, G BT GHS dig wEd 3 2 At avg 8 . i e, 39S e 5 o wtes = e @ I9diEe a5
8 s TIeTd T, el SRS Fegg f 8 H T e el W A e uiee ! vie arera stoam ey
Hiet 37 91 v ¢
(1) 16 7t (2) 24K (3) 8K @ 13X
Vasant was facing East. From this point he went 8 meters to South. Then taking right turn he
walked five meters. Again turning right he walked 8 meters. Then he took a left turn and walked for
8 meters. How many meters will he have to walk to reach the starting point ?
(1) 16 meter (2 24 meter (3) 8 meter (4) 13 meter

181, 9T geh) T aren sEea ted 6 fizy & oA s e o, Tz Hiar foem e awe o1, i € femren
ST SIS TR, W1 € forTe Sieat S Wy TiaTeaT I5HT SN TR T HeAT i qEee oTR 7
Q) fam @ (3) e @) e
If five girls are sitting in a row in such way that Rita is to the right of Leena. Seeta is next to Rita and
ison her left. Geeta is to the left of Leena. Meena is on the left of Leena but to the right of Geeta, then
who is gitting at the centre ?

(1) Leena (2) Meena (3) Geeta 4) Seeta
182. W 1325 UM X +— < 7846 &Ml = > » @ B MW = <> X * ITe VIl TEAT Sxifaredt et 7
(1) 38167 (2) 71638 (3) 73814 (4) 73618
If 1325 means X + < and 7846 means = >+ @, then which of the following alternatives indicates
=<>X *?
(1) 38167 (2) 71638 (3) 73814 4) 73618
183, S C = 69G= 14 387 I Frmm 4214 2 91y Wi SiaUHIrd §e 7
1) AGA 2) GAB @) AGB (4 BAG
If C=6 and G =14, then with the same rule what will be the word transformation of 4214 ?
(1) AGA 2 GAB 3) AGB 4) BAG
184, EJOT @ == fafie framgan faféen ome. geia e &1 frem e o Frenaem ffesien s sivesan.
(1) ZUPK @) WTQN 3) DGIM 4) ACEG

The word 'EJOT' is written applying a certain rule. Which of the following word is written using the
same rule ?

(1) ZUPK @ WTQN (3 DGIM (4) ACEG

185. T fohehe Wabdl, THY 7V Bleh] Wadmd. 091 I Y1 @1-T) G3al. HRW T Fedie Gesara. T eai d gieh!
3 T Qesur= oI 71 i 7
1) ©W @) weW (3) TN 4 wq

Ramesh plays cricket. Ramesh and Mahesh play hockey. Ganesh and Paresh play Kho-Kho. Mahesh
and Ganesh play football. Then who plays both football and hackey ?

(1) Ramesh (2) Mahesh (3) Ganesh (4) Paresh
186, HlSAT 9T I, ST B! TR, Bl A Teed, aAnTen e et ot T srgurm wof wivrar ?
(1) =¥t (2) Tl (3) S @) foz

If a horse is called a tiger, an ox is called an elephant, an elephant an ox, a tiger a lion then which
animal has horns ?

(1) horse (2) elephant 3) ox (4) lion
Heedl RIS ANT/SPACE FOR ROUGH WORK

P.T.O.
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187. ywfrsrea Wl o wyig fEe.

-]

w7 42 310 93

(1) 9 2 8 3 6 4 4

Select proper alternative in the place of the question mark,
6

107 42 Bie 93

@ 9 2 8 @3 6 @ 4‘

188,  ¥ielm SH ST Bkt foremae forean 9 Aviar anfir wiean o Afoft S, dinh v weE we §F gl .
wet Afufiesr foen v e g 3 et gien. | IdRa Sffered Wb §F g gt sned diaran Aau @ o e
AT AR AT A3 estell, aE, ey, Ta-Heh e e fedt o7 ser e g ?

O 15 @ 24 @) 36 @ 18 _

Sita was going o a fair with her two sisters-in-law and their three friends, each sister's-in-law was
with two daughters. One of their friends was with a son and two daughters while the remaining two
were accompanied by two sons each. On way sita's husband joined them with three friends and their
wives. So, in all how many were going to the fair ?

(1 15 @ 24 (3) 36 4 18

189, SR U T3S R fia@i=n tF eae TRaT o ¥, 2014 Hieft bgant fera vyt et sTea e ?

1) = 2) ®W @) oH @) =N
It a week is said to be of 4 days in place of 7 then how many weeks will there be in February 2014 ?
(1) Five (2) Seven (3) Three (4) Four

190. @refe Sward g Rt B sea ?

N
@ 8 @ 10 @ 12 @ 18

How many triangles are there in the following figure ?

[N

O 8 @ 10 (3) 12 4) 16
191. SR DCB: WXY 3@a & :: [HG :
(1) TSR (2) STR (3) RST (4) RTS
If DCB : is WXY : : then IHG :
(1 TSR @ STR (3) RST (4) RTS
192. Hél@%%ﬁ% HRA. HIE Tedah el STk, 41 Aifeefrean mm wiefie faawite Fivr fram it mee oits o
TRUIAT A5 7
1 @i AT AR @) TR TS §e TR
(3) §d ¥ Teah TR @) ud 39 geai oA

All chairs are books. Some books are tables. From this information which will be more reliable
statement from the following ? :

(1) Al books are chairs (2) Some books are not tables
(3) Alltables are books (4) Alltablesare chairs

THEST TS ARTT/SPACE FOR ROUGH WORK
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193, 1 TIRA ISR 98 ANBEI.
6789, 2345, 3186, 87564
(1) 3241 (2) 8555 (3) 7632 (4) 6491
Find out the term matching this group.
6789, 2345, 3186, 8754
(1) 3241 (2) 8555 (3) 7632 4) 6491
194, fawma v e
DFHGE, HIMKI, SUWVT, LNPOM
(1) DFHGE (2) HIMKI (3) SUWVT (4) LNPOM
Find the odd one from the following.
DFHGE, HIMKI, SUWVT, LNPOM
(1) DFHGE (2) HJMKI] 3y SUWVT 4 LNPOM
195, W T E T DAA, F W T T g A Y ‘' W F A AW WA R T R A i A Fhoa 7
(1) SO-gam (2) WIH-15 (3) ITATE-T " (4) - YOS
If D' is grand-son of B, C is son of 'B' and 'A' is grandfather of 'C', what is the relation of 'D’ with'A"?
() Father-Son (2) Brother-Brother
(3) Grandfather-Grandson (4) Great grandson-Great grandfather
196. 7497 :5255::6366: 7
1) 7497 2) 7568 (3) 8748 4) 6427
7497 : 5255 :: 6366 : ?
(1) 7497 (2) 7568 (3) 8748 4) 6427
197. @rel $1é v fafire wam fden snea. @ w9 siewy fenan Sef 3o wen fom.
416 208 104 52 26 ?
1) 19 @ 17 3 15 @ 13
There is a specific sequence of numbers in the following series. Find cut the sequence and
complete the series with the correct alternative,
416 208 104 52 267
1 19 @ 17 (3) 15 @ 13
198, ®T< @l 40 f, #. A MY AweEd. oo qEf 42 RO 3 miEt mread, =T s e
120 f&. 1. smat. wiiz 5 ffiem 3 .. e o aiftes S som =i ¢
(1) (2) (3) IFm (4) WHIE
Minal drives her car at the speed of 40 km/h. Lata drives her car at the speed of
42 km/h. Anant covers the distance of 120 km in 2% hours. Pramod covers the distance of 3 km in
5 minutes, then who is the fastest ?
(1) Minal (2) Lata (3) Anant (4) Pramod
199. R UH HHaId + TEUN X, - WU <+, X WU - VT - RO + SA R 25+8 X 96 T16 — 12= 7
QL 12 @ 10 @) 186 “4) 197
Ifinacertaincode +isreadas X, —as <+ , X as—and +as+, then25+8 X 96 ~16- 12="7
1 12 @ 10 (3) 186 @ 197
200. Gd Y5¢ Y et 2y watE Hiorar ?

Tra —, Fre —, Cra —, Mar —, Ma
i

1 ck 2) sh 3 de 1) mb
Which alternative will make all words meaningful ?

Tra —, Fre —, Cra —, Mar —, Ma

Options

1) ck (2) sh 3 de 4) mb

Hoodl HHTATE! ATT/SPACE FOR ROUGH WORK
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32 A

AT — (81 T8 G2....)

" (8) s RS Rl e il ST e i (T ) R, SRR SR
T TR HICER Fodd HH FedH o Il FOATHT IWH FHel JR, ¥ A A 9 FHER
SHTERIE M IR hetedt * wlegimed giom=n AR faser shoamamees srfufam-82”
T TLIJER HRATS AT A I SI) et HATEA Ueh a9 T=a1 shraarar=n i/ fdan vt
T G hH=A] <81 sy o gidd.

(9) TR TAHREE AR fafea et 9% ToeHE S € Ty W@a: st
TR U3 U Warf AR, AT UETt SHeTaTe ATaTgd] SAEaR STaest
muﬁﬁm—;vﬁmwﬁuwmm-m AR,

QE?TW
Y H. 201, " HE HIE 397 @O 47 a3 SR 7
(1) 377 ST (2) Tmifem g
(3) Afas fiyehh are (4) FE%T A0

& R A I (3) rfae Rl aren’ o o, wge 91w 3w 43) B,
e WATHT 9. %, 201 9Ol sa-wus Q)7 R Iz Tl srifkhd 6

152, @O @ @ @

3T TG TEd SRAYf&idheliet Tedieh TSATE e SUGRHIS &1 QreTe Saaian [iaaen
Seafhale w1 1 SHSEHTREHIIE Y it I oiaol Srifed FEA qraarar. g Rt
e ThiedT WIS Sieta= araad, Ui an wds o s 19,

HTTHT HTHATHTS! AT/ SPACE FOR ROUGH WORK
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